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Question 18- 4p> +24p? —64p =0
7%{?22 -6 [=0 -
g HP L‘fj CL"’("'T/_é)

3> +39q+ 126 =0

A. p>q CLl—flgcfj L%Bb

ID~7< % +8

L
N 2 — L
@ P<q D. pSq

P > 1 B p = q or the relation between p

\ and q can't be determined
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Question 20- 48p*524pH3 =0

P- (

55q° &5 12=0
iﬂQ— / *) /K-p>qq@qy<+5
B. qu

P>‘Z_ C. p<q

o D. qu

E. p = q or the relation between p

and q can't be determined
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< _ . ) Question 22- p* @@p 7230
| | ¢ -2N2 q-30=0
iﬂ( T / _) A. p>q E_/Eé ijL
P< 9 B. p2q N Hb
] C. p<q %:) |5 51
P>‘7_ D. p<q 343

JE—p = q or the relation between p

and q can't be determined
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@ A b C Question 1- a:b = 6:7

b:c =8:9
6x8 O ;’ ?
da.0.C — !
— 5 Ix 30
18 s5¢. 63 A 48:56:63
T B.48:56:65
C.24:29:28
D.42:55:67

E. None of these
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Question 2- a:b =5:6 & a:c=7:8
Z) C a:b:.c=7?

&Q’ 30
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2/ 3/ Question 3- The income of P 1s 150% of the income of Q and
@ > the income of R is 120% of the income of P. If the total
P income of P, Q and R together 1s Rs. 17200, what 1s R’s

& R income?
Z

T 3- P Al 3T Q &l 3T T 150% & TR R Al A1 P &l 31
I 120% &1 Afe P, Q 3T R sl et 3T 17200 9 &, T R

U G TmEEnR 07= £ ARs2600
ARG . % B. Rs 3600
18 = Y3+ 9 o
A&] Hf'%i:?og C. Rs 1800
= 1100 D.Rs 3800
R S Hoo X (8 = TQOEB, —E. None of these




https://t.me/mathbytarunsirmepl Question 4- A sum of Rs 8000 divided among A,B and C

Atc=16 |
,Q y ( R 'f‘C) | such that A gets one-third of B and C, B gets one fourth of A
y > B and C. Find the share of C.
_mé 57 4- 8000 €9 hi TRT T A, B 3R C o s 36 TR
RtC Ky ]Lwé foraTisTa forarm STTar @ f6 A &t B 31 C &1 Ush-faets feran €, B
| %l A ST C T Teh 1S HeTdT 81 C 1 i i shifshl

J :?(n“) =5 A.2200

B By [20-F900. (30 B. 1100
W{iﬁ Cx /7 /= Fhoo CA400

' Lf)(t/ 6)(&7 C (/:,LfOe)(II:,K\“HL,OO D.3000

E. None of ths
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Question 5- 36% of the first number 1s 45% of the second
@ 36 / ir— Lf 5 / I’ number. What is the ratio of the first number to the

/—\ second number?
- Y55

I S 5- e ST shT 36% SO AT T 45% &l Teet! T

V% IR SH EE&AT T STUTA T &7
\\/ h >
L NIRS 5;9 A.4:5
- 30 B-54
C.6:7
D.7:8
E. None of these
f”t'ﬁ,".‘; | e
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Question 6- The ratio of number of boys and gi

ln a
factory of orkers 1s 7 : 5. How

should be joined to make the ratio 1 : 1?

T 6- 1440 HTHRT o Ush hRET H ASh] I ASRAT hl
EEAT T STTI 7: 5 81 T 1 : | S o fo1g ot 3T

AR Shl IMH ToRIT STHT =TRY?
A7240
30 B 2
T 2= a4 cﬁgg
= 126 D.340
< Q\(Qox_z E. None of these
—o
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Question 7- A and B are 1n the ratio 5 : 3 in 800 Kg of an

A B mixture. How much of B (in Kg) should be added to
5 ) 3 make the ratio 5 :4?
)ﬂ T 7- 800 ToRUT 20T § A 3R B T 3IUTA 5: 3 8] 3F{UId
4 5 : 4 S oh To1. B H a1 (TohUT ®) TieTra ST =mfey?
- A.50 kg
V1328 < g0 B 30 “B100 kg
/:-/Oo/g,_ C.200 kg
gl D.300 kg

E. None of these
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Question 8- A had 1 rupee, 50 paise and 25 paise coins in
the ratio of 13 : 8 : 9 respectively. After giving Rs@
his mother he has Rs.(520)How many 50 paise coins did

he have.

qag-/@wr;msr}:&%a@qmﬁlm,soﬁﬁaﬁt
N NN A @ \250 NN N N
25 98 o fGaeh 9| 3T AT i 289 T9 <4 o J1e 39 ITH

489 T9J | 39 U1 50 99 ok ferd fereren 99

320 L= Hxhg A.120
:{-(56 30 B. 240
Tl OP = 6oy C.300
: = éjlo (@‘ D.260
N
—— JENone of these
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Question 9- Out of three positive numbers, the ratio of the
first and the second numbers is 3 : 4 that of the second
% the third nunErs 1s 5 : 6 1f the product of the second
and the third numbers 15(17280.)What 1s the first number.
T 9- A1 GTeHe STl 1 6, Teed! T gol HeT 1
ST ORI TEAT T 3 : 4 & AN TGl ST T ST S : 6

& AT gt S el S 1 UM 17280 21 Teel Heel

| yRag s
XYY = {‘H&O I= ¢ 30 B 90
< |
L= }%@/&%ﬁ <9, D.270
% N E. None of these
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Question 10- A bag contains 1 Rs, 50 paise and 25 paise

@ = 50F )\5? n ratio 8:9:16 . If total Rshen find number

of 25 paise coins.

8.7 7 16 g 10-wwan 1 v 5078 3925 88 3 R 8:9:16 F
\/(ME@ ‘Y5 ﬂ AT H & Al el 330 T €, AT 25 U o THerehl shl S

h 1 hifere] A.200
6:5=3 33, (oiov 25 P~ Qoxy —B.320
| < Kag@:;lo =38 C. 400
{Jﬁs: p— D. 140
L’ 5 QOXH \ E. None of these
Rk




Question 11- 20 years ago ratio between the age of A and

B B was 2:3. Ten year hence this ratio becomes 3:4. Find

5 the present age of B.
> T 8- 20 TN UseT A 3T B 2l 31 o off= o ST 2:3 o

—SO%(GH SINIEICIRES RN 3: 43\T3|'|?|T%| B4 30 d

) _p_
L( EAISP] B ¢4 dpdH ﬂl—\ls: P A. 100 years
7,) ! R~ —B 110 years
3 X3 0+2 o C. 90 years
= ”O% D. 120 years
e— E. None of these
o l
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Question 12- The ratio between the age of P and Q 10
years ago was 2:3. After 10 years this ratio becomes 5:7.
Find the sum of there present age.

TH 9- 10 99 USA P X Q hl 3ATY o STl Al AU 2:3
Tl 10 I o SITE I AT 5: 7 & ST &l AT AT I

PIuEIREAISIY

2= ‘QXlC)\,ZQ —A-100 years
= \oo«gr 0 B. 110 years
C. 120 years
R0 3‘( | D.90 years
| E. None of these




Question 13- The income of A and B are in ratio 3:2 and

SBI CLERK 2023 (3MTHIR dd
Income= Exp +Saviy ( )
A

B there expenditure are in ratio 5:3. If saving of each person

T is Rs 4,000 then find income of A.
T 13- A 3R B =l 377 ol U132 ® 3T 54T T U
_TI_ 5 )4 5:3 Bl AT Tcdeh <k ehl s 4,000 F9T &, AT A Sl 3T I
. ’ it
W Ly A.Rs 4000
/‘(5 ) |ez 30 B.Rs 3000
3 \_‘/_HOOO
| C.Rs 6000
Tﬁ = 6x Yoo D.Rs 5000
= _&{QQQ —E - None of these
\
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Question 14- The of P, Q and R are in
ratio 1:3:7 and thereanmual income of P and Q is

P Gl
@ , , @Find th@?ncome of R.
[I - S 9% 14- P, Q 3T R <Al ATftieh AT T AU 1:3:7 & IR P
3R Q <Al ATfNes AT 12,0000 81 R hl 1Y A 10
1= 30000 ﬁ%@ H‘SOO
=S, TR A.Rs 16500
. "y - m@ _B-Rs 17500
\ . 3000, C.Rs 15500
12 ©00q 7500 D.Rs 14500
E. None of these
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Question 15- Two jar contains mil and water in ratio 2:3
and 4:5 respectively. If the are mixed in same ratio then

find ratio of milk and water in new mixture.

z )}5 g3 15- a1 ST H f0eT ST aT=T 3hAST: 2: 3 3T/ 4: 5 3 ST
ﬁ%laﬁaﬁﬁwmmﬁﬁww% e ftr

Jj 8T A AT =hT ST ST ShifSr)
/;/3 A.1:19
B. 18:19
S) €719:26
D.21:23
E. None of these
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